2 RERT-AIVTRERR

ESiERLY FEh ] j &R (Ba/kg)
NO Eth we | maee | weg | PRES % iy 28 BEH GaE | BRR ER % | wokoise| wokee
1| RBBEZAIVY | (BEBR) | BER E= L FETRIE & - TR [RARLL =+ HEER RERREREVY— Ge H24.1.12 | H24.1.13 <64 <88 <74
2 | BRREDSULY | BER) | BER |Fiter FETRIE M - 5] BRTFATlEER EEREERELS— Ge H24.1.11 | H24.1.13 <90 <87 <88
3 | BRRE=4ULY | BER) | BER |Bhlm FRER - FRE i) RERREREEVY— Ge H24.1.11 | H24.1.13 <71 <11 <79
4 | BRRE=SULY | BER) | BER |REW FERER - HRE ZIMEER ERERREREEVY— Ge H24.1.11 | H24.1.13 <9.1 <13 <89
5 | RABE=4JULY | BBR) | #BR |[#Eh FERER - HRE ZIMEER ERERREREEVY— Ge H24.1.11 | H24.1.13 <79 <14 <13
6 | BRRE=4ULY | BER) | BER |REH FRER - xR it RERREREEVY— Ge H24.1.11 | H24.1.13 <76 <90 <6.9
1 | REBE=4ULY | BBR) | #BER |[RiFE FERIE - HRE PEME )it EBERREREVY— Ge H24.1.11 | H24.1.13 <79 <11 <83
8 | BRRE=SULY | BER) | BER |RIiFEr FERIE & - 5] PEME )t BERREREEVS— Ge H24.1.12 | H24.1.13 <89 <92 <89
9 | BRRE=4YLY | BER) | BER |A#m FERE R - SR 45 REREREREEVY— Ge H24.1.12 | H24.1.13 <63 <76 <638
10 | RABFE=4JLY | BBR) | =B8R |(BF® FERE R - SR 47 RERREREEVY— Ge H24.1.12 | H24.1.13 <6.1 <88 <76
1" | REABFE=4JLY | BBR) | =B8R |(BF® FERE R - SR 47 ERERREREVY— Ge H24.1.12 | H24.1.13 <72 <1 <76
12 | REBE=4JLY | BBR) | =B8R |(BF® FERE R - SR 45 RERREREEVY— Ge H24.1.12 | H24.1.13 <69 <92 <84
13 | RABE=4YLY | BBR) | &#BR |(BFH FERE R - SR 47 RERREREEVY— Ge H24.1.12 | H24.1.13 <69 <9.0 <99
14 | REABE=4JLY | BBR) | =B8R |(BN® FERE R - SR 45 BRERREREVY— Ge H24.1.12 | H24.1.13 <83 <87 <99
15 | RABFE=4JLY | BBR) | =B8R |(BN® FERE R - SR 45 ERERREREVS— Ge H24.1.12 | H24.1.13 <65 <93 <6.9
16 | RABFE=2JYLY | BBR) | =B8R |(BNH FERE R - SR 45 ERERREREVY— Ge H24.1.12 | H24.1.13 <74 <93 <79
17 | RABE=4JLY | BBR) | &#BR |(BF® FERE R - SR 45 RERREREEVY— Ge H24.112 | H24.1.13 <78 <84 <81
18 | RABFE=4JLY | BBR) | =B8R |(BF® FERE R - SR 45 EREREREREEVY— Ge H24.1.12 | H24.1.13 <83 <83 <92
19 | BRFE=SULY | (BER) | #BE |GIE FERE R - SR 47 RERREREEVY— Ge H24.1.12 | H24.1.13 <6.0 <82 <18
20 | BRREZAULY | BBR) | |58 |[R)IE FEiRBES - P - B 47 EEREERELLS— Ge H24.1.12 | H24.1.13 <6.9 <86 <6.9
21 | BRREZAUVY | BBR) | |58 |[R)IE FERE R - SR 47 EEREREREEVY— Ge H24.1.12 | H24.1.13 <5.1 <69 <8.1
22 | BRREZAULY | BBR) | |58 |R)IE FEiRBES - P - B 47 EEREERE L S— Ge H24.1.12 | H24.1.13 <19 <90 <78
23 | BRREZAULY | BEBR) | |58 |[R)IE FERE R - SR 47 BERREREEVY— Ge H24.1.12 | H24.1.13 <65 <1 <83
24 | BRERE=SYLY | BER) | BER |[mm FERE R - SR 45 EEREREREEVY— Ge H24.112 | H24.1.13 <6.2 <92 1
25 | BRRE=4YLY | BER) | BER |Amam FERE R - SR 45 EEREREREEVY— Ge H24.112 | H24.1.13 <71 <88 74
26 | BRERE=4YLY | BER) | BER |[mam FERE R - SR 47 EEREREREVY— Ge H24.1.12 | H24.1.13 <14 <1 <6.1




ESEIES

73

"%

R (Ba/kg)

Y h-134

REBE=2)LY

<87

REBE=2)LY

<93

REBE=2)LY

<78

REBE=4)LY

<98

REBE=4)LY

<94

REBE=2)LY

<99

REBE=4)LY

<638

REBE=2)LY

<97

REBE=2)LY

<94

REBE=2)LY

<87

REBE=2JLY

<83

REBE=2JLY

<99

REBE=2)LY

<74

REBE=2)LY

<72

REBE=4JLY

>

<73

REBE=4JLY

>

<86

REBE=4JLY

<74

HEREA

BERERFHEI—BEXH

I~
(2]
—

HESHA

Ry

BERERFHEI—BEXH

o
1
()

HESHA

Ry

BERERFHEI—BEXH

—
—y
(=3
(=]

HESHA

Ry

BEREFHEI—BEXR

—
IN
o
(=]

HESHA

Ry

BEREFHEI—BEXR

00
=3
IN

HESHA

Ry

BEREFHEI—BEXR

=3
&
~

HESHA

Ry

BEREFHEI—BEXR

HESHRA

>

BEREFHEI—BEXR

HESHA

Ry

BEREFHEI—BEXR

HESHRA

Ry

BEREFHEI—BEXR




R (Ba/kg)

Y9 h-134

3

BERREFHEI—BEXR

432

oy

BERREFHEI—BEXR

oy

BERREFHEI—BEXR

3

BERREFHEI—BEXR

)

BERREFHEI—BEXR

)

BERREFHEI—BEXR

123

=

BEREFHEI—BEXH

203

oy

BERERFHEI—BEXH

405

oy

BERERFHEI—BEXH

=

BERERFHEI—BEXH

=

BERREFHEI—BEXR

oy

BERREFHEI—BEXR

oy

BERREFHEI—BEXR




